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QUESTION 1
What capability does Information Services Director provide?
A. Information Services Director is the tool used to consume web services

B. Information Services Director is the tool used to create a service; the deployment of the service is performed by
3rdparty tools

C. Information Services Director is the tool used within Information Server to create and to deploy an application
containing one or more services

D. Information Services Director is the tool used to schedule DataStage jobs and run job sequences

Correct Answer: C

QUESTION 2

Which of the following statements about partitioning algorithms is correct?

A. MODULUS and HASH ensure balanced data volumes in all the partitions

B. For the Lookup reference stage, DataStage always uses the MODULUS method

C. SAME patrtitioning method is the fastest algorithm because it does not require additional processing
D. The grouping methods available in the Aggregator stage are MODULUS and HASH

Correct Answer: C

QUESTION 3

Which of the following is NOT an option for the Reject Mode setting of a Sequential File Stage?
A. Continue

B. Reject

C. Fail

D. Output

Correct Answer: B

QUESTION 4
For the Information Server Repository, which Relational Database Management System (RDMS) CANNOT be used?

A. Microsoft SQL Server
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B. Informix
C. DB2 UDB
D. Oracle

Correct Answer: B

QUESTION 5

A Transformer Stage can have

A. One input link, one or more reject links, one otherwise link, one or more output links

B. One or more input links, one or more reject links, one otherwise link, one or more output links
C. One input link, one reject link, one otherwise link, one or more output links

D. One or more input links, one reject link, one otherwise link, one or more output links

Correct Answer: C
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